
NSN 5340-01-586-8784
Strap And Hardware Mounting Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/5340-01-586-8784

End Application:

Lav-l,  lav-r,  lav-at,  lav-m,  lav-c2,  lav-mewss,  and lav-25

Accessory Components And Quantity:

Ratchett strap,  q type 2; closure strap,  q type 2; fender washer,  3/8 in x 1-1/2 in x 1/8 in,  q type 6; fender washer,  m8,  q type 6; screw, 

button hd,  m8 x 22mm,  cl 10.9,  q type 6; rail nut,  q type 6; hex spacer,  1/4 in -20 x 1 in,  q type 3; screw,  skt cap,  1/4 in,  q type 6

Product Name:

Strap and hardware mounting kit,  pol rack

Special Features:

Equiv fasteners can be obtained from an alternate source of supply than shown on parts list; not all materials reflected on parts list

Material:

Steel and zinc

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

https://aerobasegroup.com

